S T
AR P _
- ¢ > IR )7
). = 7 o § T i A ,-—‘,)')/: 4
f‘_’/ 7487 ';"' / = /;é
Frojit o ) (
= A2 S
[ s T (G50002/ ‘ . 7 7£00 O
Dorsitr s 1007 /252 o Lozt =

Y 4 g ) —_— S

frulrien) CUE prd (120000, ———" T/ oL

I e =) &4

il . T 2 )0
79///{/, ol R Sd2F

et Lo m/7 =
7

_{}I//;/;’ﬂj;ﬁ 7’[{/ “Z ﬁﬂ//:’/f _//_/‘ (DI
= 54 4 6
Z
Pl Busis = 734092 = 2/ 47
Ny - & —_—
7) Qidenl i) Bes:
= Y &

T

=etrrtpt S //’_gﬁgfr/' Liesre

], Dsdern o dlimr)

Sl ot =7 A5 - L)

Lvdbred i (78 A s/ ] ¢

ﬂ/(//?//’ﬁ/ )f,?ré/ = fﬂ_’/_:_y_gz
z

=02 — ok

Z

C'(///a"//ff}//ﬂmrs o F50, D 7 7 & (677, /g,/f/2
iy

T ——
Wiclead et Basss= 45022

oL

W B =t g, SO
O ekt Brsis =

A
ely) / v
T/-:‘E‘/‘,ul/ /?J’/?lr [ / 300
(f%"///’m(pﬂz"- 320
Corrrpnt 255665
//7[/@’//'/07/ / 390 — /20) — /7 £
/[)J/?/cgl & 5 /Zf’j ‘——————_—)f/- 0/5.
Beank /3
o /%y” w5 (82
— (d%r
5 97
/—_

Pyt i parterd 50

\

=

T ol f,[:yﬂ/‘fﬂ“ 2%
Egeniprmeml — /730
/ﬂyr"ﬁfdﬁ' — 5

”;—:70—5—
Less fagatte ———( 522
& FEY
) //7r//'r,4/ﬁ//})/7 Bess
o _.:#_-__/_____——— ;
e
Traehotl Jrém ST o002
Gy —— Joe
£ 7 277
HETy /é_c’ -
Z &5
_‘)"57??({7 c/,'/f‘ﬁ} (/ S’,JO/)
I / .f————_’_'_.'—-_/‘
LL &6
e

Scanned with CamScanner




